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Abstract 17 23%

The problem of producing high-voltage transmission line control cabinet was tardiness
when comparing to the plan. The tardiness came from the lack of data needed and the error of
budgeting. It caused the loss of income. This research aimed at working standard improvement,
productivity improvement, and choosing the best way to produce the 115kV high-voltage
transmission line control cabinet. To improve the standard of producing the cabinet, Time study
theory was applied to find the correct standard time of each activity. Then, the Critical Path
Method: CPM theory was applied to find the total standard time. The results showed that the
standard time was 109 hours, which was 16.51% more than the estimated time, and it was 3-4
hours less than the actual working time, and the workers could complete their jobs within that
time. Activity Based Costing theory was applied to find the standard cost. Also, the time in each
activity which was researched before was used for finding the standard cost. When comparing
the standard cost to the prices that other companies submitted in an auction, it was found that the
cost of one cabinet 528,187 bath, was 4.12-6.02% cheaper. The results of this research suggested
that working improvement under suitable budget can be improved by employing one more worker
for the designing position and the an;ther one for the drawing position. This can reduce both cost

and time. Ifit is not possible, 3 hours over time working each day would be the best way.
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